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o)) Z dege(v) =
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(3) degg'(1) + dega (1) =

2. FMEWT-T T 7 EE R E .
(D) A7 77 6= ({1, 2,3, 4}, {(1,2), (1, 3), 3, H)})
L5, KR T7 G| {1,2, 4) ZHEXREUN.

) 2#2777 G2 = ({1, 2, 3}, {4, 5, 6, 7}, {(1.4), (2,
6), (2, 7), (5, 3)}) ZAHETRS0.

(3) BRI T77 Gy DIEGIEEETF708 ({1, 2, 3, 4},
({1, 2}, {2, 4}, {3, 4}}) THDETD. deges'(2) =
2, deges'(4) = 0 THDHET D, Gy ZiE/23.

4 Gs = ({1, 2, 3}, {(1, 2), (2, 3)}), Gs = ({2, 3, 4},
{2, 3), (3, 4), (4, 2)})) &7 5.
4-1) G4+ U Gs ZHfiE7esu,

4-2) Gs N Gs BHEX/pE0,

(5) Ks 13522777 CThd. V(Ks)=1{a,b,c,d e} T
Hb. HIRT77 Ks | { a, b, c,d } ZHEEIREN.

(6) &[0 Z7 ({a, b, c, d}, {{a, b}, {a, c}, {a,d}}) &
777 Ge DFELDE Ks L7025, |[V(Gs) = 6 TH
5. e € V(Gs) THD. Go HEXIpE0.



